Test 3 Online Review
Spring 2012
Sections 8.4 - 10.3

10 questions: 3 multiple choice and 7 written

e Triconometric Substitution
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e Numerical Integration

e Polar Coordinates

e Parametric Curves

e Sets, Sequences, LUB, GLB, Monotonicity and Limits
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Part I - Trigonometric Substitution

For integrals involving...

Use the substitution...
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Decomposition

Setting: I%dx, where p(x) and g(x) are polynomials
q(x — -

and the degree of g(x) > degree of p(x)
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Use the midpoint, trapezoid and Simpson's methods to

estimate j x)dx with n=4. X f(x)
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Part IV - Polar Coordinates
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Give reEta/nglar coordinates for the polar point
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Points are specified in rectangular coordinates. Give all possible
polar coordinates for each point.
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Sketch the polar curve.
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Give the area inside one petal of » = 300s(46’).
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Give the area in the 1st quadrant that is inside the
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Part V - Parametric Equations
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Express the parametric curve by an equation in x and y.
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Find a parametrization
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Give tangent line and normal line to the curve at the point associated with
the given value of ¢, using both xy equations and parametric equations.
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Find the points (x,y) at which the curve has: (a) a horizontal
tangent; (b) a vertical tangent. Then sketch the curve.

x(t)y=3t—1, y(t)y=r+1.
x(t)y=r+ =2, y(t)y=1r — 121
x(f)y=3 —4sintf, y(t)=4+ 3cost.
x(t)y =sin2t, y(f)=sint.

@ x()y=r -2t yi)=1 -3 +21
(\ x(f)=2—5cost, y(t)=3+sint.

Ly P2 ~tongpit Need Slge, = @

)
(A._;l =0 & ;]}:0
X! and ¥ #0.

t = b
\(g_'j:__jjf-——-. \,(1_0 ‘/X':OW‘-’A a):,;‘q' /
A Sohe 2t-z=o = 7

22



‘ Give a formula for\ the length of the curve given by
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The equations below give the position of a particle at each time ¢
during the time interval specified. Find the initial speed of the particle,
the terminal speed of the partical, and the distance traveled by the_

particle. -
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Part VI - Sets, Sequences LUB, GLB,

Monotonicity and Limits
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Determine the boundedness and monotonicity of the sequence
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